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@12cm @ 13cm ® 14cm @ 15cm ® 16cm

~&B ‘

DE = JAC, BF = ;AB, FD = _BO °[tk
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DE + EF + FD — ~AC + AB+ Bc
—(AC+AB+BC)
= 5(6+8+10)

= 12(cm)©|T}.
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9.

oS 1ol 4 AD//PQ//BC L W), x4y o] gHe?

o7 @ 75 ® 8 @®)8.5

AD//PE°|2E2 AP:PB=DE:EB---
m//mol,‘iiﬁ:ﬁ:m:@-n
@, ©°lA AP : PB=DQ: QC
6:3=5:x

1
x:—5:2.5

®© @

| D

Q:

)

C

=EQ:BCO|E25:75=y:9
y:9

)

S x+y=25+6=85




th= Z2 S AT E DABCD = AD __-18cm - __
/ BCo

/ ]‘4.@:@23:2,@//@%} B¢ —C
o, PQ 2] Zoj&?
’ P
E
ASCm
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~&B ~

AE:EB=DF:FC=3:2
BE:BA =EP: AD

2:5=EP:5

EP = 2(cm)

—— 18x3+5x2 64

BF="—""""°""°"_""—12
3+2 5 8(cm)

PQ — EF - 2EP — 8.8(cm)




11. oABCDOA AD//BC©]il 2AE = BE, AD = 6em , BC = 15cm
A o, MN o] Zo]=?

@1cm @ 2cm @ 3cm @ 4cm ® 5cm

~&B ~

AE:AB=EN:BC=1:3°9/221:3=EN:15.. EN=5
BE:BA=EM:AD=2:3°]E22:3=EM:6 .. EM =
4

oo MN =5-4=1(cm)
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15. o= 2™ 22 aABCOIA A& AB, BD, DC, CA o] T3& 747}
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@ lem @ 2cm 3)3cm @ 4cm ® 5cm




16. o2 a2 a //b /e [/d LW, x+y+z 2 F2?

D 35 @ 38 ® 40 @®)43 ® 45

20:30 =x:27°|B2 x=18
30:10=27:y0|22 y=9
20:10=z:8°|2&2 z=16
Lox+y+z=43
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AM:MB=DN:NC=1:30°43:4=MQ:8 0|t}
b MQ = 6 ©J .

MQ = 2MP ©|2 2 MP = 3cm ©]t}.
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E
B D C
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AAFE = ABDF = ADCE = AFED (SSS &%) °]E2 AABC
o] Wol=
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0|7 AD+BC=36,MP:PQ="7:4< o, x2] 327
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B ~

AD =x,BC =36-x 2} 5t4
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